_ _ KEB1BEHKRAFREREREE) . - _ 27K Rk
KIS = P AHiEEH 5 — . KIS BiZfE . -
BAEE RKRFHFKGERERER-BK)(* 1) Fk ok ok O HAE{E (mg/L) AKRFREBK(ILGATELER) - hER BRAEIEE (mg/L) A& — ?Ey;‘:f
7
HAKEHH R7.6.25 | R7.7.16 R7.6.25 R7.4.9 R7.5.14 | R7.6.25 | R7.7.16 FKEAH R7.6.25

KR 11:25 11:20 11:55 10:25 10:45 13:35 10:50 RKEZ 11:25

Xix 551 =Y 551 5N a1 =Y 551 Xix 551

sum (°C) 28.3 26.0 28.3 22.2 23.0 27.9 25.5 2R (0) 28.3

XKig (C) 21.4 27.2 20.1 13.0 18.7 24.2 26.2 Kig (°C) 21.4

1| — AR MR 15 1008 LLF 0 0 0 0 1]1,3->4~007n~X2(D-D) 0.05 FxEHl <0.0005
2| KIGE T BHEIhGZWN & T THRH T&H T 2(2,2-DPA (4'5%Y) 0.08 BB -
3|AREVLBRUZDILEY <0.0003 0.003LLF 3/2,4-D(2,4-PA) 0.02 BREH -

4KEBRUZDILED <0.00005 0.0005LL F 4|EPN 0.004 HEFl <0.00004

5| ELURUZDIEEY <0.001 0.01LLF 5|MCPA 0.005 BREH <0.0003

6|8 RUZDIEEY <0.001 0.01LLF 6|75, 0.9 BREH <0.009

1ERXRRUVZDIEEY <0.001 0.01LLF 1| 7t2z—F 0.006 FHaEl <0.0006
g|/Nfiv 0Lt &Y <0.002 0.02LLF 8|7 0.01 BREH -
O|FAHERREE R <0.004 0.04LLF ol7=—okz 0.003 BREH -
107 AEMAA L RUIEIES T <0.001 0.01LLF <0.001 10| 735X 0.006 HaHl -
1 |HBEERRUVBHEHREER 0.19 10LLF 11|7590—1L 0.03 BRE -

12179 RUVZDIEEY <0.08 0.8LLF 12[MVXYFAY 0.005 HBHl <0.0005
13[[F3FRUVZDILEY <0.1 1.0LLF 13|47z kR 0.001 HEEl -
14|miE bk & <0.0002 0.002LLF 14|14y 7oA/ 7 (MIPC) 0.01 E =1 -

15(1,4-oFFH> <0.005 0.05LLF 154V 70F45> (PT) 0.3 HEH <0.003
16 If;/l_f_ 1;25;';:;;33 <0.001 0.04LLF 16|4 T2 hILRTY 0.002 B -

NIPZIE=EE D <0.001 0.02LLF 17[47a R k2 (1BP) 0.09 BREH <0.0009

18]S 0nTFL Y <0.001 0.01LLF 18[43 /4942y 0.006 REH <0.00006

g |19 rJZOOTFLY <0.001 0.01LLF 19[4 5 /07y 0.009 BREH -
20[RoE <0.001 0.01LLF 20|zx7OAILT 0.03 BREH -
21|18 R 0.16 0.6LLF 0.06 21|ThozoFOoysR 0.08 HRE <0.0008
22|~/ OOEEEE <0.002 0.02LLF <0.002 22| TURRILTZU(N VY IEY) 0.01 HHEl -

# |23 400k L <0.001 0.06LLF 0.019 23|AF B o0k 0.02 BREH <0.0002
24| HO0EE: <0.003 0.03LLF <0.003 24| A XS SR HEER) 0.03 HEH <0.0004
2570 08 A% 0.002 01LLF 0.008 25(4) ¥ ZRbAEY 0.1 FEA -
26| R <0.001 0.01LLF 0.001 26| HXYHR 0.0006 HEEl -

5 |27 BR)NOARY 0.003 0.1LUTF 0.041 27|h72kO—)L 0.008 BREH -
28|~V OOEFES <0.003 0.03LLF <0.003 28| AL ByT 0.08 FHaEl <0.001
29[ 0EDH/O0ARY 0.001 0.03LLF 0.012 29[AJL781JJLINAC) 0.02 FHaE <0.0002
307 8ERILL <0.001 0.09LLF 0.002 30|HILARTS 0.005 FEE -

g |31 RILLTILTER <0.008 0.08LLF <0.008 31[F /453 (ACN) 0.005 BREH -
R|FBHRRUVZDIEEY <0.001 10LLF 32|F ¥ THY 0.3 BREH <0.003
B|TILEZOLRUZEDILEY <0.01 0.2LLF 33|#38Y 0.03 BRE -

U BRUVZDILEY 0.1 0.58(%5) 0.3LLF 345 )Ry —b 2 BREH <0.02
BHRUVZDIEEY <0.01 1.0LLF 35|45 Lk R—bk 0.02 BB <0.0002
36| FRUDLBRUVZEDIEEY 8.9 200LLF 36(voA7OyT 0.02 BRELH -
JNRVAVRUZEDILEY 0.024 0.163(%5) 0.05LLF 37[#o)L=ro2z> (CNP) 0.0001 BREH -
38[IEEAA 9 200LLF 14 15 17 19 38[yOLEY KRR 0.003 HEBHl <0.00003
AT DL, TR HLE BE) 71 300LLF 92 39|~on4n =)L (TPN) 0.05 REH <0.0005
40| ZZ R IXEY 170 500LLF 215 0[7Foy 0.001 BREH -
M|EAAREEHES <0.02 02LLF 41> 7 /7RRX (CYAP) 0.003 HEBHl <0.00003
2|CTARIY <0.000001 0.00001LLF <0.000001| <0.000001 42[>50> (DCMU) 0.02 BREH -
43|2-AFILAVRIL A —IL <0.000001 0.00001 LA F <0.000001| <0.000001 43|40~ =)L (DBN) 0.03 BREH -
4| AR EEEE <0.002 0.02LLF <0.002 44[>40)LR X (DDVP) 0.008 R <0.00008
457z /—)LEE <0.0005 0.005LLF 4547 vk 0.01 BREH <0.0001
46| EHEMZE(TOC) <0.3 3LLF <0.3 1.1 1.2 0.8 462 RILRb(TFLFEARY) 0.005 B REl -
47 |pH1E 7.7 5.8LL E8.6LLTF 75 7.6 7.8 7.7 AT|CFAAILNA— REE 0.004 BH-FREE <0.00005
48|k HELL EETHWNIE| BEELGL] EELGL| E84L] EEBLGL 48|CFAE L 0.009 BREH -
FIEE HEELL EETHWNIE| BEELGL] EELGL| EE84L] EEBLGL 49| \OkRyTITFIL 0.006 BREH -
50 BB FE 1.6 5ELLTF <0.5 <0.5 <0.5 <0.5 50{> <> (CAT) 0.003 BRELH -
51| E 0.3 2T <0.1 <0.1 <0.1 <0.1 51| ARAR) Y 0.02 BRE I -
52| ART—F 0.05 HHEl <0.0005
BiZ{E (mg/L) 53[> ARYY 0.03 PREH -
HWZUoFEVRUZDIEEY <0.002 0.02LLF 54|47/ 0.003 HaHl <0.00003
2|05 RUZDIEEY <0.0002 0.002LL T (x2) = | 5584400 0.8 BREH <0.008
=T LRUZDIEEY 0.02L4F 56|2 7 X XA LGN L) 0.01| e e -pawH
i BUAFIAIYFAL T R—k : ’ <0.0001
4| R T | s571F70=L 0.1 BEH -
5[12->/00x4y <0.0004 0.004LLF 58|F 95 L 0.02 REH <0.0002

" 6|R FH 59|FACHILT 0.08 HBH <0.0008

1R & | 60[FATFR—FAFIL 0.3 REH <0.003

& glkILTY <0.04 04LLF 61|FARLAILT 0.02 BREH -

9[JRILEED (2-TFI)LAXTIIL) <0.008 0.08LLF 62|T2YJILR)AY 0.002 BRE A <0.00002
= | 10| EIERFE 0.6LLF 63|7 /LI LT (MBPMC) 0.02 BRE I -

51 1 & 64|~ 0OE L 0.006 BREH -

13 12| ZERIEIB R 0.6LLF 65|k~ 0Lk (DEP) 0.005 HHREl <0.00005
13(>y0a7+Ek=kJJL 0.01 LA (x2) 66|k 95V —IL 0.1 HEH -

g 143Ky 05—)L 0.02LL T (*2) 67|FJTILS) 0.06 BREE <0.0006
[HEESR 1LUTF 68|70/ =K 0.03 BREH -

= | 16[3%BBIE R 1UTF 0.50 0.46 0.38 0.48 69[/85a0—k 0.01 BREH <0.0001

Tl 17AINTHL, TR LERRE) 10~100 70|[EXROKRR 0.0009 BREH -

- 18RV AVRUVEZDRILEY 0.01LLF ESYa=)L 0.01 BREH <0.0001

8 19 [l B ok BB 3 20LLF 12|IESY XL o1y 0.004 BREH -

= | 20{111-F)HOOTH <0.03 0.3LLF 73|65V R—KEFY L) 0.02 BREH -

Z 2 XF/L+-TFILT—F /L (MTBE) <0.002 0.02LLF 714|EYE I F AL 0.002 HHaEl -

15 22| HHEE (KMnO4HEE) (* 3) <0.3 3LUTF <0.3 1.1 1.2 0.8 75|EYITFAILT 0.002 BREH -
23| RX5#E (TON) A 3LUTF 76|lE0¥O> 0.05 HEH -

g 24| R FKEZREY 170 30~200LLF 7170478 =)L 0.0005 HEHl <0.000005
25| & 0.3 1EUT <0.1 <0.1 <0.1 <0.1 78(2x=FOFA> (MEP) 0.01 HEHl <0.0001
26|pH{E 7.7 1588 75 7.6 7.8 7.7 79|7x/7 AL T (BPMC) 0.03 FARE -
21|BBM (S -0.8 —1~0 80(Zx) LY 0.05 REH -
28|t /E R =M 410 2000LLF 81[2x>F A4 (MPP) 0.006 FZ B <0.00006
29[11->Hon0xFLy <0.01 0.1LF 82|72 kT —K(PAP) 0.007 HHREl <0.00007
0[ZILE=ZHLEUZFDIEEY 0.1LLF 837 FSHIR 0.01 BREH -
31|PFOSKR UFPFOA( * 4) <0.000001 0.00005 L (*2) 0.000007 84|7H54K 0.1 HREH -

85[7440—)L 0.03 BREH -
_ TRElE = 86| 7Bt 0.02 BREF <0.0002
VPSP INPN Ea e A T YIEEIEPE D 0.02 B REl -
PN EERE BEEEFRER(IVAEFR) | REEShEN N 88|7ILTFH L 0.03 BEH <0.0003
FUOEZTREES (mg/L) — <0.05 <0.05 89[JLFS5ro— )L 0.05 BREH -
BAAXI 8 1pg—TEQ/LLLTF 90(FALzrY 0.09 BEA <0.0009
N|FoF+HR 0.007 HFHaE <0.00007
* 1 FEEKERHBEFKSEODKREHKEZEFH (KKRKFRUER)EREE) 92|7nFary— 0.05 BEH -
* 2. 8,E 93|7OEH=K 0.05 BREE -
* 3. HHEIF H #46(TOC)TH A 94|7aR+y—)L 0.03 HREH <0.0003
* 4:PFOS(RILIILAOFA IR RILIRUEE) RUPFOA(RILDILAOA VR ER) 95(J0EIFF 0.1 BREH <0.001
x5 BKHTHLA-OKEEEBLUTIZESIETHERAEL 96| /3L 0.02 BEH <0.0002
97|Rv L Hoy 0.1 BEH <0.001
98|RLVEL /O 0.09 BREH -
99|Ro Iz HvT 0.005 BREH -
100[Ro 5y 0.2 BREH <0.002
101[RoT4A2Y 0.3 BREH <0.003
102[Ro25HLT 0.02 FEaE <0.0002
103|R2TILSY) (A A0YY) 0.01 BREH -
104|RVJLt—hk 0.07 BREH -
105[RRF7E—F 0.003 R <0.00005
106[*5FA> (5Y) 0.7 HBH <0.007
107[*a7ny7 0.05 BREH <0.0005
108[AV3)L 0.03 HHEl <0.0003
109[A25F L 0.2 HEH <0.002
110|AFZF 4> (DMTP) 0.004 HEREl <0.00004
111[Ar=/Z2FEEY 0.04 HEH -
112[AR) TPy 0.03 BREH -
113[ A2z +vk 0.02 BREH -
114[x70=L 0.1 REH -
115[F) R—k 0.005 BREH -




